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Question 1 Primary 6 Science » Primary 6 Science (Term 1) 2 pts

Sty the two groups of arimals, A and B

; A B

Whizh & tha follewing desorbes the groups of animais correcihy?

v A Characteristics A |B
The animals lay eggs to reproduce. | No | Yes
B. | cCharacteristics A (B
The animals have hair as their outer covering. [ No | No
C. |characteristics A B
The animals have scales as their outer covering. | Yes | Yes
D. | characteristics A |B
The adults give birth to their young. | Yes | Yes
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Question Type: Multiple Choice
Randomize Answers: No

Date Added: Thu 23rd Sep 2021
Last Modified: N/A

QID#: 29,114,189

Primary 6 Science » Primary 6 Science (Term 1) 2 pts

Question 2

Which one of the following organisms does not reproduce by spores?

A.

Mould on bread

2/31
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Question Type: Multiple Choice
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Diavid studies (he Ofe cycka of organism C.
Cwganism C ﬂ

dult

nEEniT

A. The adult lays eggs.
The adult has three body parts.
C. The young moults several times.

D. The young does not resemble the adult.

R ——
Eggs

N
/

Puipa

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Muiltiple Choice

No

Thu 23rd Sep 2021
N/A

29,114,206

Question 4

Tha diagram shows (e water cycle.

ClassMarker - Manage Test

Lanva

Which af the following charsctansiics halped David clagsity organism C a5 an

Primary 6 Science » Primary 6 Science (Term 1)

fiquid slate?
A. AandB
BandC
C. AandC
v D. CandD

https://www.classmarker.com/a//tests/test/?test_id=1821246

Al which two parls, &, B, G and [ of the waler cycle, are watar presant in lha
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4/31


https://0cm.classmarker.com/10070943_0TFE5NSX.jpg
https://www.classmarker.com/a/tests/qb/manage/?test_id=1821246&question_id=29114206
https://www.classmarker.com/a/tests/qb/manage/?test_id=1821246&question_id=29114206&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1821246
https://0cm.classmarker.com/10070943_TLRYMZ4D.jpg

10/31/21, 1:15 PM
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Randomize Answers: No

Date Added: Thu 23rd Sep 2021
Last Modified: N/A
QID#: 29,114,210
Question 5
Study the piant shown,

flcasrar

shem

A Ithas a weak slem.

B Itz rools make food.
T s flower helps in reproduction,
D s stem fransporis food 1o tha roots.
A. AandC
Aand D
C. BandC
v D. CandD

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Thu 23rd Sep 2021
Last Modified: N/A
QID#: 29,114,217
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Primary 6 Science » Primary 6 Science (Term 1)

leal

raofs

Which of the following two statements are true about the plant?

Primary 6 Science » Primary 6 Science (Term 1)

2 pts
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The picheres shows the slonmsats of 8 plant
- slomata

Hiwe are (ha glomale gmilar b the gils of a fish?

A. They take in water.
They take in oxygen only.
v' C. They allow gaseous exchange.

D. They have covers to protect them.

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 23rd Sep 2021
Last Modified: N/A
QID#: 29,114,225
Question 7 Primary 6 Science » Primary 6 Science (Term 1) 2 pts
Tha diagram shows & plant ced.
s A
— -
&
B
[

The table states the fimclions of parls A, B, Cand D,

“Part | Function
A | Makes food
B | Supporis and glves the cell its shape |
C | Controls all the activilies of the call
D | Conlrals me_n:uv-emenluf substances in and oul of the cell

Which of Ihe parts and funclices are comed!?

A and B only
B and C only
A, C and D only

o o w »

A,B,CandD
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Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Thu 23rd Sep 2021

Last Modified: N/A

QID#: 29,114,545

Question 8 Primary 6 Science » Primary 6 Science (Term 1) 2 pts

Efly el up @&n eleclrical circut 58 shown, She used some wines, o identical
bulbs, Dand E, and malarials X and ¥ to form the circul,

X 8]
¥ E

Elby roticed that aniy bul C it up

Whait could e b peason Tor this obeanation?

A. Bulb D is not working.
X is an electrical insulator.
¥ C. Yis an electrical insulator.

D. The battery has run out of chemical potential energy.

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 23rd Sep 2021

Last Modified: N/A

QID#: 29,114,572
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Fred labelled sach part of Magnat P as X, ¥ and Z as shown. He conducted
an experiment by lowering hagnel P into & box of steel paper cfios,

slring

g

i Y
I_ﬁﬂ::ﬁ:;ﬂ'-.:ﬁb

Magnet P

boit of steel
paper clips

Fred repeated the expernmant using two other magnels, Q and R, of tha
sami slze. He recorded the number of paper clips aliracied to each part of

each magnel in the table,
~ Number of paper clips stiracted st
x Y i
| Wagnet P 17 15
Magrnet Q T B 1 g
Magnet R | ] 8 _.‘J 10

Which af the fallewing conclsions is comect?

magnet.

magnet.

Z is almost the same.

magnets are higher than Q.

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 10

Multiple Choice

No

Thu 23rd Sep 2021
N/A

29,114,600
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P is the strongest magnet because the most number of paper clips were attracted by the

Q is the strongest magnet because the least number of paper clips were attracted by the

P and R are equally strong as the number of paper clips attracted by the two magnets at

P and R are weaker than Q because the number of paper clips attracted by the two

Primary 6 Science » Primary 6 Science (Term 1)
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Fendi added some weights 1o a spring, as shown.

What iz the original length of the spring?

10 cm
12.cm
v C. 15cm
D. 20cm
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 23rd Sep 2021
Last Modified: N/A
QID#: 29,114,607
Question 11 Primary 6 Science » Primary 6 Science (Term 1)

Julisn puzhed his oy car on four different surfaces, A, B, Cand D; wilh the
sama amounl of forea. The distances bevelled by the loy car for each ol the
sufaces are shown in the table.

Surface l ) _.ﬁiﬁ'n_n:;l:nvullqd By Toy Car Jcm)
A | 180
B | o _351} =
c 150 1
[ ® 2 ]

Arrange [he srfeces, A, B, Cand D starling with he surlace hal causes he
least frictionsd force with e whasta ol the boy car.

A. B,AD,C
v'B. B,D,AC
C. CADB
D. C,B,A D

https://www.classmarker.com/a//tests/test/?test_id=1821246
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Last Modified:

QID#:

Question 12

Multiple Choice

No

Thu 23rd Sep 2021
N/A

29,114,615

The dlapram shows 8 pond habilal
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Primary 6 Science » Primary 6 Science (Term 1)

v A. 5
B. 6
C. 7
D. 8

Question Type:

Randomize Answers:

Date Added:
Last Modified:
QID#:

Question 13

Multiple Choice

No

Thu 23rd Sep 2021
N/A

29,114,618
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Harry mdaased @ Dell down 8 ramp

i
!

Which of the foflowing carecty ghows the enargy conwrsion thal ocourred In
the tali?

A. Kinetic energy ----> Sound energy + Heat energy

Kinetic energy ----- > Potential energy + Heat energy

C. Potential energy ------ > Kinetic energy + Sound energy
v' D. Potential energy ------- > Kinetic energy + Sound energy + Heat energy

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 23rd Sep 2021

Last Modified: N/A

QID#: 29,114,641

Question 14 Primary 6 Science » Primary 6 Science (Term 1) 2 pts

https://www.classmarker.com/a//tests/test/?test_id=1821246 11/31


https://0cm.classmarker.com/10070943_RMETENXL.jpg
https://www.classmarker.com/a/tests/qb/manage/?test_id=1821246&question_id=29114641
https://www.classmarker.com/a/tests/qb/manage/?test_id=1821246&question_id=29114641&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1821246
https://0cm.classmarker.com/10070943_WBVPVPNO.jpg

10/31/21, 1:15 PM

Cilbart wanis o find out which malerial B sbie to gonduct hest the fastest

Wrich two set-ups must Gilbert ee 1o o3 His aim?

ClassMarker - Manage Test

Question Type:

Question 15

https://www.classmarker.com/a//tests/test/?test_id=1821246

Multiple Choice

Randomize Answers: No

Date Added: Thu 23rd Sep 2021
Last Modified: N/A

QID#: 29,114,649

——
(A) koo cubeg jue cube
malal plaslit
\ /— diah dish
rrietal metal
& ket Fieat stand et
a 5oUrca sOUNCE
¥
{CH ize oubs D) e gubn
mesjal meial
dizh dizh
rrietal matal
slsnd haat skand heat
EOLTCA BOUTCA
A. AandB
A and D
v C. BandC
D. BandD
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The diagram shows the kings of & hieman and how pasoous exchange lakes place
al tha & sacs.

Cases P end O are foosd I i Bood at parts A and B of @ Hocd vessel. The
s of gases P and G found in & and B is represanled in tha bar graphes below.

Amcaink Aoiant

afdgern of gas

Iy Ikand It Bl
BlA a8

Identify gas P.

Accepted answers:

¥ carbon dioxide

Question Type: Free Text

Date Added: Thu 23rd Sep 2021
Last Modified: N/A
QID#: 29,114,677

Primary 6 Science » Primary 6 Science (Term 1) 0.5 pts

Question 16
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The diagram shows the kings of & hieman and how pasoous exchange lakes place
al tha & sacs.

Gases P and O ore lowsd 1 ihs Bood al parks A ard B of 8w Blocd vessel. The
s of gases P and G found in & and B is represanled in tha bar graphes below.

Amcaink Aoiant

afdgern of gas

Iy Ikand It Bl
BlA a8

Identify gas Q.

Accepted answers:

v’ Oxygen

Question Type: Free Text

Date Added: Thu 23rd Sep 2021
Last Modified: N/A
QID#: 29,114,686
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Question 17
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The diagram shows the flow of the blood from the lungs to the rest of the bady via
the heart

Identify the arrows that represent the blood that is rich in oxygen by placing ticks in the boxes. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 23rd Sep 2021
Last Modified: Thu 23rd Sep 2021
QID#: 29,114,712

Correctly answered feedback

0 R

P Sl
! i ] [
S

Incorrectly answered feedback
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Question 18

Question Type:
Date Added:
Last Modified:
QID#:
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Essay

Thu 23rd Sep 2021
N/A

29,114,745

Correctly answered feedback

Incorrectly answered feedback

ClassMarker - Manage Test

Primary 6 Science » Primary 6 Science (Term 1)

The diagram shows the flow of the blood from the lungs ta (e rest of the bady via

Explain how digested food is transported to all parts of the body. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Food is completely digested in the small intestine. The blood carries the digested food from the
small intestine and transports to all parts of the body.

0 pts
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Food is completely digested in the small intestine. The blood carries the digested food from the
small intestine and transports to all parts of the body.

Question 19 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

Harry uses a float when he swims at the swimming poal.

Harry needs to pump air into the float to inflate it before he can use it in the pool. What property of air
does this show? (1 mark)

Question Type: Essay

Date Added: Thu 23rd Sep 2021
Last Modified: N/A
QID#: 29,114,773

Correctly answered feedback

Air takes up space.

Incorrectly answered feedback

Air takes up space.

Question 20 Primary 6 Science » Primary 6 Science (Term 1) 0 pts
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Harry uses a float when he swims at the swimming poal.

Does the mass of air in the float increase, decrease or remain the same after more air is pumped into
it? Give a reason for your answer. (1 mark)

Question Type: Essay

Date Added: Thu 23rd Sep 2021
Last Modified: N/A
QID#: 29,114,786

Correctly answered feedback

Increase. Air has a mass.

Incorrectly answered feedback

Increase. Air has a mass.

Question 21 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

Harry uses a float when he swims at the swimming poal.

Why does the float feel harder after it has been left in the sun for some time? Explain your answer
clearly. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

https://www.classmarker.com/a//tests/test/?test_id=1821246 18/31


https://0cm.classmarker.com/10070943_C087HV9J.jpg
https://www.classmarker.com/a/tests/qb/manage/?test_id=1821246&question_id=29114786
https://www.classmarker.com/a/tests/qb/manage/?test_id=1821246&question_id=29114786&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1821246
https://0cm.classmarker.com/10070943_C087HV9J.jpg

10/31/21, 1:15 PM ClassMarker - Manage Test

Question Type: Essay

Date Added: Thu 23rd Sep 2021
Last Modified: N/A
QID#: 29,114,801

Correctly answered feedback

The air in the float gains heat from the sun and expands. The expanded air occupies a bigger
space and causes the float to feel harder.

Incorrectly answered feedback

The air in the float gains heat from the sun and expands. The expanded air occupies a bigger
space and causes the float to feel harder.

Iria pleced & Nask comtaning Subslance Z on the able-at room lempembure of 3576
far thees howra, Sha used a dela Inggar bo messure The temperatirs of Substance X
over that perod, After threa hours, she naliced that Substance £ was bn §hae liquid

STt

Subsatancs I

In the diagram above, use a ruler to draw Substance Z in liquid state. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 23rd Sep 2021
Last Modified: N/A
QID#: 29,115,282

Correctly answered feedback
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Qu estion 22 Primary 6 Science » Primary 6 Science (Term 1)

0 pts
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Question 23 Primary 6 Science » Primary 6 Science (Term 1) 1 pt

Iriz placed & Nask comtaining Subsiance Z on the table-at room lempamture of 2570
for thres hodra, Sha used a dela Ioggaer to measurs The tamperstura. of Substance 2
over that perod, Aftar threa hours, she naliced that Substance £ was bn §ha liquid
siate.

flask

Uhsirgg 18 data recordad By her deta logger, s pholbed a grsph as shown.

Temparatire of
Subslance £ =)

E

an
5 e e

20
15
10

]

w

Tirme: (howrs )

Based on the graph, what is the melting point of Substance Z? (1 mark)

Accepted answers:
v’ 10 degree celcius

¥’ 10 degrees celcius

Question Type: Free Text

Date Added: Thu 23rd Sep 2021
Last Modified: N/A

QID#: 29,115,329

Correctly answered feedback

10°C

Incorrectly answered feedback

10°C
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Iria pleced a Nask contaning Subslance Z on the able-at room lempembure of 3570
for thres hodra, Sha used a deda loggaer to measure The tamperstra. of Substance 2
over that perod, Aftar threa hours, she naliced that Substance £ was bn §ha liquid
siata.
. e
Bubelanca £
flask
Ulairgg 1 data recosdad By her data logger, s plofbed a grasph as ahawn.
Temparatire of
Substance £ <)
E
o
D
25 c —_—
20 )
15
A B
14
£ ;
Tirme: ( howrs )
At which point in the graph did Substance Z reach room temperature? (1 mark)
Accepted answers:
v’ At point C
¥ point C
v c
Question Type: Free Text
Date Added: Thu 23rd Sep 2021
Last Modified: N/A
QID#: 29,115,366
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Jimirry wsad boswes of iderfical stre bul made of differant materials to conduct &n
exparment i@ dark room,. In each box, he used danlical bulbe and placed Ight
sarears o recond e amoun| of ighi detecled.

| g I o (PO

gilees
el 4

%‘ —r mr' -

! Sat-up X Satup ¥

Ha recroerded the msolls in tha gregph,

State a property of light. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 23rd Sep 2021
Last Modified: N/A
QID#: 29,115,435

Correctly answered feedback

Light travels in a straight line.

Incorrectly answered feedback

Light travels in a straight line.

Qu estion 26 Primary 6 Science » Primary 6 Science (Term 1)
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Jimirry wsad boswes of iderfical stre bul made of differant materials to conduct &n
cparimant 1 @ dark oo, In each box, ha usad identical buibe and placed kght
sarears o recond e amoun| of ighi detecled.

——  box

6 ety : /H\ alurinium
T N

gilees
el 4

@‘ = :-E:ur' 2 -

! Sat-up X Satup ¥

Ha recroerded the msolls in tha gregph,

Light

Saf-n

Explain why there is a difference in the amount of light detected in each set-up. (2 marks)

Set-up X:

Set-up Y:

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 23rd Sep 2021
Last Modified: N/A
QID#: 29,115,544

Correctly answered feedback
Set-up X: Glass is transparent, it allows light to pass through, so less amount of light is reflected.
Set-up Y: Aluminium is opaque, it does not allow light to pass through.

Hence, more light is reflected.

Incorrectly answered feedback

Set-up X: Glass is transparent, it allows light to pass through, so less amount of light is reflected.

Set-up Y: Aluminium is opaque, it does not allow light to pass through.
Hence, more light is reflected.
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Jimirry wsad boswes of iderfical stre bul made of differant materials to conduct &n
exparment i@ dark room,. In each box, he used danlical bulbe and placed Ight
sarears o recond e amoun| of ighi detecled.

11 - Al
= /! ——  box

gilees
el 4

@‘ . :-E}q:ur' -

Sat-up X Satup ¥

Ha recroerded the msolls in tha gregph,

Light

Saf-n

Why did Jimmy use identical sized boxes for the experiment? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 23rd Sep 2021
Last Modified: N/A
QID#: 29,115,566

Correctly answered feedback

This is to ensure the result of the experiment is solely due to different materials used and not the
side of the boxes.

Incorrectly answered feedback

This is to ensure the result of the experiment is solely due to different materials used and not the
side of the boxes.

Question 28 Primary 6 Science » Primary 6 Science (Term 1) 0 pts
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Ranmy sl up an experiment i sressurs be amcun of force needed 1o 5N v 100g
rads cat of an einpty container, one af & me. Ore rod s wrapped with plesie and
the céher md with sardpapsr,

Ha then added 300cm® of sand inlo the amply container, He messured fhe amount -
of lorce reeded o B the rod wrapoed with plasfic, as shown,

ealinbiidei
T

- pring balonce

red wrapped with
prat i

T

i ?l:lllcrh:'uf 1. a1

State the forces that caused the spring to stretch when he lifted the rod out of the container with sand.
(1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 23rd Sep 2021
Last Modified: N/A
QID#: 29,115,591

Correctly answered feedback

Gravitational force and frictional force.

Incorrectly answered feedback

Gravitational force and frictional force.

Qu estion 29 Primary 6 Science » Primary 6 Science (Term 1)
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Kanrry se1 up an experiment 1o rressure the amoun of force nesdad 1o 5N o 100g
rads cat of an einpty container, one af & me. Ore rod s wrapped with plestie and

the céher md with sardpapsr,

He then acded 300em* of sand inlo the smpty container, Ha measured the amount __
of lorce reeded o B the rod wrapoed with plasfic, as shown,

w
¥
i
H
T

%
g

Kenny hed recorded his resulls in the table. Sugpest the smaunt of foree
needad (o i the rod wrapped wilh sardpdper out of the eonlainer of sand. i

Wirite your answer o e table.
Fatee noeded (N)
B Red Vithoul sand Wil sand
wrapped with plastia 1 3
E :
wrapped wilh sandpaper 1
Accepted answers:
v'5
Question Type: Free Text
Date Added: Thu 23rd Sep 2021
Last Modified: N/A
QID#: 29,115,621
Primary 6 Science » Primary 6 Science (Term 1) 0 pts
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Question 31

ClassMarker - Manage Test

Ranmy sl up an experiment i sressurs be amcun of force needed 1o 5N v 100g

rads cat of an einpty container, one af @ Ime. Ore fod i wrapped with pleste and
ihe oiher rod wilh sardpaper,

He then acded 300em* of sand inlo the smpty container, Ha measured the amount __
of lorce reeded o B the rod wrapoed with plasfic, as shown,

R limbiidaiel )

T

sprirg balance

o
h-_n_ 200em? of sand

Explain your answer in the previous question. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,115,740

Correctly answered feedback
Sand is rougher than plastic. As the spring balance is pulled up, the rod wrapped with sandpaper

will rub against the sand and the frictional force between the rod and the sandpaper increase.
Hence, more force is needed overcome the greater amount of frictional force.

Incorrectly answered feedback
Sand is rougher than plastic. As the spring balance is pulled up, the rod wrapped with sandpaper

will rub against the sand and the frictional force between the rod and the sandpaper increase.
Hence, more force is needed overcome the greater amount of frictional force.

Primary 6 Science » Primary 6 Science (Term 1)

Plants get their energy from the Sun to make food through the process of photosynthesis.
List the factors that are required for photosynthesis in green plants. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,115,753
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Correctly answered feedback

light, carbon dioxide, water and chlorophyll

Incorrectly answered feedback

light, carbon dioxide, water and chlorophyll

Question 32 Primary 6 Science » Primary 6 Science (Term 1) 0 pts
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z patertial ‘ ! =g
ﬁ' Hrw % }L +
. ‘of pland
: EneEny Ry -
l:dl:l‘r.l'li?.i{m of circult box af lght b

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,115,848

Correctly answered feedback

light energy - electrical energy - light energy + heat energy

Incorrectly answered feedback

light energy - electrical energy - light energy + heat energy
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Question 33 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

: : :
Ecipriinls have Sound thet plats protuce clecirical enengyy when they casry G
phelesymihesis which is used Lo lighit un o bidb a5 st in the selup.

Explain how this form of obtaining energy is an advantage as compared to the burning of fossil fuels for
energy. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,115,858

Correctly answered feedback

Fossil fuels pollute the environment and are not reusable but this form does not pollute.

Incorrectly answered feedback

Fossil fuels pollute the environment and are not reusable but this form does not pollute.

Question 34 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

https://www.classmarker.com/a//tests/test/?test_id=1821246 29/31


https://www.classmarker.com/a/tests/qb/manage/?test_id=1821246&question_id=29115848
https://www.classmarker.com/a/tests/qb/manage/?test_id=1821246&question_id=29115848&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1821246
https://0cm.classmarker.com/10070943_CZ0K0Q7L.jpg
https://www.classmarker.com/a/tests/qb/manage/?test_id=1821246&question_id=29115858
https://www.classmarker.com/a/tests/qb/manage/?test_id=1821246&question_id=29115858&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1821246

10/31/21, 1:15 PM ClassMarker - Manage Test

Evessll wartad to irvastigabs the preflemsd candilions al the habital of orgarism H
Ha has the folowing rescurces:
+ @covared ray with
o air holes
o four egual parls, A, B, Cand O
o & hola in the middla which is tha only way io each part
= 2 lorchiighis
» B0y of dry soil
#  GD0g of damp eod
= 100 ceganism H

Dasign an experdmant to investigate Evareit's sm by filling In tha necas=ary
Bones usirg ol the avalable resources. [2]

= Gl of food » 504 of food

———

» 500 of food e « fllg of food

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,115,892

Correctly answered feedback

A) 300g of damp soil, 25 organism H

B) 1 torchlight, 300g damp soil, 25 organism H
C) 1 torchlight, 300g dry soil, 25 organism H
D) 300g dry soil, 25 organism H

Incorrectly answered feedback

A) 300g of damp soil, 25 organism H

B) 1 torchlight, 300g damp soil, 25 organism H
C) 1 torchlight, 300g dry soil, 25 organism H
D) 300g dry soil, 25 organism H
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Ewvesstl wartad to irmmestigabs the prelemed candilions af the habital of ongarism H
Ha has tha folowing rescurces:
= acovarsd tray with
o air holes
o four equsl parts, A, B, Cend 0
< ahola n tha middie which is the only way o sach pari
s BOD0g of dry soil
»  E00g of damp sod
= 103 ceganism H

Describe what he must observe after a few days before he can conclude the preferred habitat for
organism H. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,115,900

Correctly answered feedback

He must observe which part has the most organism H living there.

Incorrectly answered feedback

He must observe which part has the most organism H living there.
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